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Candidates shall note that each question will be multilingual, viz., in
English/Assamese/ Bengali/ Bodo/ Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the medium/version, the English

version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION—A / %1 / 3—"1)I / F—aTgnn / s—¥TT

Choose the correct answer :
% TG AR Tfered -

% Terls @Rz IS :

03 R w1 R

T IW g -

1. Which of the following is not a perfect square?
TR (FICH! 35 SR =y 2

ANo7 @G 39 32y 7 2

e S99 w1 R T17

frefafaa § @ Sw-d den oof ot 54 37

(a) 441 (b) 572 (c) 576

9 4
2. The value of [—g] is

4
—=| T_AF A

4
—2| a7 9= =@

914
2| 7 97 S=m

4
2l Hmum R

8 16 8
(a) _E (b) ﬁ (C) E

8. The HCF of 135 and 225 is
135 9F 225 %9 oA, 2’
135 @32 225 97 S1.3.9. 2
135 3R 225 7 2.3m.91. S
135 X 225 F19. 9. 3

(@ 30375 () 945 & 45
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(d) 1729

(d)

(d)
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4. A bell rings at every 18 seconds and an another bell rings at every
60 seconds. If these two bells ring simultaneously at an instant,
then the bells will ring simultaneously again after 1

qB1 IB] 18 (RCFD SF A 96l TG 60 (RFWI JSAETS INK | (PIA 9T
TS YCAB] ¥BT GrFecs M, (08 OR RAM (P9 1S 1951 o1 o[
GrFeACs! MM 2 \
Mo T 18 OIS R U GJf6 I 60 CILICS T K | (ICAT 4F
SR b WD @R STCH WA, OIRCA O FS CFS L I Y6 T
G A ?

A T 18 AHUS AR TG HHE T= 60 Yahvg BRI R @ist| wem
o T R @mA?

T 9 18 Fahes 3R gEl 9 60 s F i W a9 g1 AR TRt ©
g W A1 "feal T wy St §, @ frat 9% % W] QM1 ufedl 3 Th

LIPS Uil EXsE
El%z

(@) 30 seconds / (%F% / IS [/ Whvs / e
(b) 60 seconds / (R(IQ / G / BFUE [ A8
(¢) 90 seconds / (RIS / (IS / HUE / Ohe

_(d) 180 seconds / (3% / CTTS / GHUS / Yohee

5. Which of the following is a polynomial? 1
SO (PO I 2 —_—
Ao PG T2 ? S
TREfA T=99 frEm=E? Else:
freferfea # & -1 957 27
(a) 1 (b) x2+2a_c+19
x2+2x+19
(c) 1 d) Jx+19
x+19

B21-GM/30A [ Contd.



(4)

8. Consider the following pairs of linear equations :

SR (AT TP @REED R 41

Neva taRT ANACR (FOIETe Reav1 I -

TEEH TER qamYE & TeRE! 9 ¢

Frafafiaa W gl % gHl w am dfRw -

(i) 3x+2y=35, 2x+3y=5

(ii) 4x-3y=9, 4x —3y=8

Choose the correct alternative.

u% Rewcn afe e |

% Rl Qe e |

e @i ' g |

wE fawew ghw)

(@) The pairs in (7) and (ii) are consistent / (i) ¥ (ii) I (A (FIAR
TS / () Q3R (i5)- 99 CHISIBTHA S90S / (1) 3R (1) T 5Ty @
/ (i) 3R (i) % g™ "ra &

(b) The pairs in (i) and (ii) are inconsistent / (i) S (ii) ¥ @R
(PR IPRTS / (1) 3R (15)-9 (STTIGTE IPRSS /(1) 3 (i) 7
S TSI @R / (i) 3R (i) & g9 3@ &

(c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent / (i) SR ARG SPiReTS, Y (i1) I @R M90S / (5)-G7
CTeI SPiRerS, 6% (11)-9q (ool Hers / (1) T 9 werr @renfy, Jrem
(i) T TR @R / (1) # W s B, 9 (1) § 3w i f

(@) The pair in (i) is consistent, whereas the pair in (i) is
inconsistent / (i) 59 (IRCH! 39S, 2 (i) I FATH! PSS / (i)-9]
coreIfb AT R (1)~ (eIl wpiRere / (i) f 5Ty @R, e
(i) T <TI0 G / (6) & W R, S (i) & gm o

7. The number of roots of the equation (x +2)3 = x3 — 4 is 1
(x+2)? = 23 — 45T TR Sk 2
(x +2)% = x3 — 4 Wacm o 2w 2
(x +2)% = 2% — 4 TRURR A sFRmmE sEE
wfiR (2 +2)3 = x3 — 4 % 7ot f v 2
(@ 4 ®) 3 & 2 @ 1
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8. The first term of an AP is 4 and the common difference is —3.
The fifth term is 1

Qb1 ST 29T A °F 4 F FYRT TG —3 207, %] 9Bl 27
G5 ST ATST AW *W 4 GR YR WBI — 3 A, I {6 2

A WG e fife foee 4 oy smieR sy —3 s, =iy
foreman sme

T FHI S 1 W99 U5 4 ¢ 3R 4 3fax —3 ¥ | uiwaf ge @

(o) -8 ®) -11 c) 16 d) 19

9. D and E are points on the sides AB and AC respectively of a
triangle ABC. DE || BC, DB=17-2 cm, AE=1-8 cm, EC = 5-4 cm.
AD is 1
ABC fqgs9 AB WI¥ AC 3= & D W E 7o &% DE | BC,
DB=7-2cm, AE=1-8cm, EC =5-4 cm. AD 2’4
ABC fagtsd AB @2 AC I @@ D @3k E ¥t &% DE || BC,
DB=7-2cm, AE=1.8 cm, EC =5-4 cm. AD %=
ABC @i AB 3Rt AC @it e i@ D 3R E e
f&=\| DE||BC, DB=7-2cm, AE=1.8 cm, EC =5-4 cm. AD f
EEeR)
foret Bis[st ABC i y=iett AB 31 AC R 9% fag D ol E @@ %) 3R
DE||BC, DB=17-2cm, AE=1.8 cm @ EC =5-4 cm &1 2, @

AD %19 &
(@) 4'8cm (b) 36 cm (c) 24 cm (d) 12 cm
10. The distance between the points (a, b) and (—a, —b) is 1

(a, b) 9 (—a, — b) R 1R F51 % 24

(a, b) R (—a, — b) Y 76 = 79 2=

(a, b) 3 (—a, — b) =1 TN TR SHuE S
forgatt (a, ) 3R (—a, - b) FFa N ghH 2

(@) 2va?+b2 ) 4Ja®+ b2
(c) O (d) 2(a+b)
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The surface area of a cube is 600 m 2. The length of each edge is 1
b1 TR R 600 m 2. TRCER 2ifees! e v 2

% T B w1 600 m2. R A a1 eicEw oo 20

A o g 600 m2. TR sTErff w'am

Th o F JEH &% 600 m? B | wew RRR 41 wR ) o 2

(@) 15m {,(b) 10 m (¢c) 8m (d) 5m

What is the probability of getting a number 9 in a single throw of
a die? 1

91 el R TR 9 oRE PR R 2
<36 e G T 9 “NeTH FoR S 2
TEHN Gl TREARTE 9 AR Ty e SQai?

| Tsh ITH ! T 9 heh W GEAT 9 WIH B i Iiirewar @ 27

(@) g ® 1 ) % @ 0

SECTION—B / 4—I}4l / ¥—>N| / @—aTerm / @—

he length of a rectangle is three times its breadth. If the area of
the rectangle is 432 cm2, find its perimeter. 9

B! SRS O O 2% fofAeT | SRerTatE I 432 om2 2,
2 ~AfRA [efy 97

b TR O O AEA AR | AROrwADE (w432 o 2
%A, 97 AT A I |

T ARAEssH MR A sRaRi wEam) AR Tsergiry
432 cm? s, St WA Rmme g

@mﬁmﬁmaﬁﬁﬁ?ﬁquﬂ%lﬁmwﬁm@z cm?
2, T et afem I v
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(l«i /‘?H x varies directly as y, and x = 6 when y = 30, then find the value
"~/ of y when x =2. 2

15.

16.

MW x Q y T TS ASPFOL KB A WF y = 30 T x = 6; (SR A
x =2 y I A fefa 41

M x, y 9 F Forwerd 570 @ @R y=30 A x =6; O
x =2 99 G y 7 T e 3
ﬁgxmyﬁﬂﬁﬁﬁmmyzsomxzs;mxzzﬁ
gqrar y T wm RgA|

ErfixWyWWﬁ%,ﬁ?sziﬁWﬁy=30%,?ﬁy$lmﬂlﬁm

Sax =278 00|
E%z

Solve the following pair of linear equations : 2

o (A FAPIIR S 47

MNeva AR FTFR (M ST FCA
TEEf s THEE W R AEgAT g
frafeRad Waw gl F g0 A g HIT :

0-2x+0-3y=1-3
0-4x+0-5y=2-3

The product of two consecutive positive integers is 306. Find the
integers. 2

751 TR QIATIF STX% SR *[F 306 2T, TR 1 Fef 41
7% RS IR T SR [ 306 2, A 6 Fefw A |

T SR eE O AR gESETaen 306 S, i wEAE
g E#5E

-

A FAWE YATAF IRt 1 RS 306 ¥ QUi i I hifel @ 3
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17. Find the number of terms of the following arithmetic progression

7 oo IR SAsICBR e el
Neva SEa 2AsifeB o AT e
e wEgfa s faemafy smfmm! fog -
Prefafaa aaie 4 & 92t & g&a1 3@ HIT

7, 13, 19, ---, 205

line intersects the sides AB and AC of a triangle ABC Aaﬁt,' D and E
respectlvely, and is parallel to BC. Prove that — AB A C

U (A4 ABC figeq AB &% AC =% ¥ D 9% E e 06 e
@S BC 1 SEAE | o 74 @ AL _ AE
AB AC’

36 (A ABC fageR@ AB 93 AC T TN D @R E [9Ce b 933
@mﬁchWIﬁmqmmw ol

AB AC
W TEIRT ABC J@¥uami AB 30 AC J@=rg 1Y D 31 E

IECHE ICRARC: K| mﬁg@mBCﬁﬁmmﬂwﬁw Al
AB AC

W13 @1 T s ABC &t y13Tt AB 31k AC %1 0 D iR E W ufiede
m%wgmBC%m%Iﬁaﬁﬁqﬁjﬁ—%

Ze i L
f cotb= z, then evaluate (1+ sin0) sme)-
8 (1+ cosB)(1— cosb) 9

(1+ sinB)(1— sinb) .
(14 cos6)(1— cosH) ARG

I cotB—g o3

7 (14 sin6)(1— sin®)
Qﬁ te = b
0 8 bl (1+ cosB)(1— cosb) AT R A

T ey (L5000 —5in0) o
g cotb =, A L+ o080 (1 —oosp) " T T

7

g

ﬁ (1+ sinB)(1— sin#) 1 T B l

(1+ cos0)(1— cosb)

e cotd =

B21-GM/30A [C
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20. If/s,in(x+y)=], cos(x—y)=§ and x>y, 0°<x+y <90° then
" find x and y. 2

T sin(x+y) =1, cos(xhy):g qF x>y, 0°<x+y<90° (3

x % y e 4 1

% sin(x+y) =1, cos(x —y) = iz_g

qR x>y, 0°<x+y <90° OIA

x G y efg 3z

g sin(x+ y) =1, cos(x—y)zg I x>y, 0°<x+y<90° =
xaﬂﬂyﬁqﬂﬁyl

e

R sin(x+y) =1, cos(:r—_y):7

aﬁxﬁﬂymmwﬁm|

MM x>y, 0°<x+y<90°

21. Jf the tangents PA and PB from a point P to a circle with centre O
- are inclined to each other at an angle of 80°, then find ZPOA. 2

7 @61 g P 3 °@1 O (F%gE 9Bl J89 PA EF PB =MfF TOIE *_~[
80° (1 A, (S8 LPOA g 3411

It @3 R P @7 (0T O FHY® @I [e PA 3R PB =3 1o
=] 80° (FI1 IR, OICel LPOA 8 Jcan |

fg 9@ o= P fiwm O feii @@ Swaf PA 3 PB Fifsg <tten
MEETE 80° TAT W, 37ee LPOA T o fgA |

IR w forg P ¥ O 3= 9t Rt 99 w PA 3R PB waei-tant R 80°
% U R Gl &, @ LPOA 1 HH T1a i
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Z" A box contains 3 blue, 2 white and 4 red marbles. If a .marble i.s
drawn at random from the box, then what is the probability that 1t

will be (a) white and (b) red? 2

a5 IRRS RFB1 [em, B 3N W GRG I8 TLA WC | I BT T
ARSI B 2, (S8 G261 (a) I IF (B) 81 (AR SSIfe] fFam 2

3 e foaf e, 76 @32 Rl =1 o= wew 1 A @96 WA
TfeFsca B =W, ©=ee «ft (a) ST @3e (b) Fe 2SR TRl TS ?

T THGATE W 3 e, W 2 TR AR W 4 e AR 7w | 9R W W
ARG WrEE d qEATedl, ST 7GR A (@) TR R (B) W

T fosd % 3 1A, 2 v i 4 T = 2w R @ IR wE w0
gl Fren S R, @ @Rt = wREa € B fieen @ w0 (o) 9%
a1 (b) A 27

./23./ "Mr. X and Mr. Y are two friends. What is the probability that both
will have (a) different birthdays and (b) the same birthday?
(Ignoring a leap year) 2

ﬁ%ﬁxwﬁiﬁquumm(a)%ﬂwﬁ?ww) G S
RRRF gl & 2 (PR Iwm )

PR X 932 bR Y T 39 | TR () o7 wufim «az ()
S 26 FSRA 1 2 (11 S aw figm) = e

fer X amt fier Ywﬁa‘raﬁlﬂﬁﬁa‘t(a)uaﬁgfgqaﬁqﬁqmm
e FF e RE | (Leap year @ Ammend) (®) wa

WiRrear & fy

B21-GM/30A
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SECTION—C / —>iieit / 51—l / T—<grm / T—90T

24. Prove that 3+ 24/5 is irrational.
o T4 (@ 3+ 26 TR | E%sE

o1 FCAN (@ 3+ 2+/5 TR | O}
A @™ R 3+ 24/5 3 TS |
g ST foF 3+ 2+/5 T i wE&m g

. Find the quadratic polynomial whose zeros are —4 and > 3
51 fATe I=7MI *FICIRD — 4 T gz’m, T=omeH! ey 41 |
ol e Tt i — 4 e e, e B
mwﬁwﬁmmﬁaﬁw’m_4mg.mmﬁ@

ﬁma@awﬁﬁq,ma‘rsﬁ%—uﬁt%

ynd the roots of the following equation : 3
SO FRFIICHR JoCF20! feff 4

Of710]
Meva A MFReba Pl ey e é%
TEEH FAAAEH JeTerE g -

Fraferfaa arftesn & gw 3 hifv -
V2x2 4+ 7x+5V2 =0
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27/ An AP consists of 50 terms of which 3rd term is 12 and the last .
term is 106. Find the 20th term.

mwaﬂmsm%wnmﬁaﬂmmwmmws

7o, 290 o1 e 1 |

a3 TR 25ece 50f o W' | ¢} PO b 12 @3 few oo 106
(A, 2999 oo e A |

AR W S AR 50 frere 21 Af amfy femn 12 S S
famn 106 wEea, 29 f faema g

T TR A & 50 W &, R dew ug 12 ¥ oK sifm 1 106 T T
294t g g1a g |

ye diagonals AC and BD of a trapezium ABCD with AB || DC

intersect each other at the point O. Show that o2 = b 3

OC OD

ABCD GPf&aRR AB || DC, AC 9 BD 3{eRa O s s~ I53fb
OA OB

W'm@ﬂﬁ_o_p'

ABCD PP AB||DC, AC @& BD 35 O Rce oo
OA OB

FHRAID FCE | @S A —— = ——

RANENR A o ~ 55
ABCD?ﬁﬁﬂWﬁABIlDC,ACmBD@?TBf@ﬁﬁmOﬁE’IW
mﬁmm’aﬁlﬁ@ﬁgé:@.

OC  OD
@méaABCD,ﬁmﬁAB"DC,%BﬁEUTAC%ﬂIBDWﬁ:go
nﬁﬁam’élmﬁﬁgé=9£. A
B21-GM/30A

[ Contd.



( 13 )

y

0 f @(0,1) is equidistant from P(5, —3) and R(x, 6), then find the
4 value of x. Also, find the distances @R and PR. 3
T Q0,1 RH P(5, —3) WF R(x,6)F *Fl S, (S x = T

Tfeied] | #15ce QR WF PR ({93201 Sfered |

ft Q(0,1) R P(5,—3) @ R(x,6) 9 (UF RIS, O x &
T A% a1 1 5% QR 9% PR Agasfel fef <A |

g Q0,1 R=en P(5,-3) M R(x,6) T Torf guremumaE 3,
3rsen x B wm fig | @ QR 3 PR T simemsdt fog |

Ik Q(0,1) fargelt P(5,—3) 3R R(x,6)d avg®y B, q@ x H WH ¥
$ifo) gfEf QR 2t PR +ft 7@ Hifst)

ind the coordinates of the point which divide{fhe line joining the
points (—1, 7) and (4, —3) in the ratio 2: 3. : 3

R (=1, 7) W (4, —3) T FKEAM @GS 2 : 3 FoleS T 31 RABR
FIIE fef 4 |

R (—1,7) @32 (4, —8) 97 TN @IRGF 2 : 3 TpAilcs ©iot F1 Rexfoa
FIIS e e |

(-1,7) 3 (4, —3) o= IR AR T @R 23 TgUReTE
e i emaf femrma g

3@ forg & Fdwiss 3 Aifsrg, st forgett (-1, 7) =R (4, — 3) = fem™ a@
tarEs M 2 : 3 % Igurd & e s B

B21-GM/30A [ Contd.
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yﬁluam/mﬁ@ﬂ/mﬁﬁm/m%/mmﬁﬁw 3
sin 30°+tan 45°— cosec 60°
sec 30°+ cos 60°+ cot 45°

yﬁe cost of fencing a circular field at the rate of ¥ 24 per metre is
¥5,280. The field is to be ploughed at the rate of 0-50 per m?2.

Find the cost of ploughing the field. 3

oS bRS 24 B TA© W4 JORR 1[I @R B IS 5,280 T XT6

2 | AR A4S 39fWORS 0-50 51 TS 2o I S | YEYF] A (@R
%435 Ay 347 |

ofs fbrea 24 B @ @I JERE WA @@ ST FCw 5,280 B
w06 20 | TR afS MA@ 0-50 T =ca == vy IS =3 | T T
BICRR %36 fefa 3can

A SR BRSO S8 dFwm fieremE 24 U@ 5,280 O W@
HIARE! HTHW w1 fensE 0-50 TR 16 TEHE WEE | SR g ey
FEE! g

T JAHR WA W 24 Fo 7 AR N QA 915 W *1 =77 5,280 %o 2| 7

@d A 0-50 Fo Wfd i M A X A A FE I ) Fa A g =W =
=4 1 HHfe |

83, 1n a circle of radius 21 cm, an arc subtends an angle of 60° at the

centre. Find (@) the length of the arc and () the area of the sector
formed by the arec.

21 cm JIPIR @61 I8, 91 WA @FHS By GO° @Y Teow g |
(@) SI°ICBA 07 ww)mﬂzﬁﬁwmmw@w?ﬁfﬁﬁwﬁl

21 e IPIELS 08, GF0 B &7 @Few 60°

CFIT B R |
(@) T#ifb 076 @3% (B) BIo1fG =IRT Teom zey FQ | 1

TSR e farefy g |

B21-GM/30A
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AR IR @'@E 21 cm IR T SRemEn feeTa 60° @' AW Bl |
(a) IRENF ARIRE IR () e GEREAE FEe s g |

1S 21 cm R 39 F1 TF 99 FR R 60° F H07 ARG Hal 81 (@) T
& Twad 3R (b) =19 g A Y Beawe F1 AFE I RIS @
OR / 5331/ ©21/ Tat/ 3ot Eﬁ

ifid the area of the sector of a circle with radius 4 cm and of
angle 30°. Also, find the area of the corresponding major sector.
(Use = 3-14) 3

4 cm UPTEYS SF 30° (IR Bl 989 AN JIfe AT 411 ACS
e J SR o1 e 41 1 (= 3-14 o1 41<A0)

4 cm IPIHTS @2 30° (I @IS 0T JSIAL CFAFS R FA |
ACH SR YA JSIAIMA CFqFA I A | (= 3-14 3¢ 49CA)

AR ¥ §@E3 4 cm AR e GmiEE @9En 30°. d@RiH
TeeAsiy figd | aTema, SfF A S gsesty g ) (o= 314 )

591 4 cm T TF I F Broage F1 G T Hifs, Fre wo 30° 21
g @, T 4 Breaws 1 8aed ft F1a AT (7= 3-14 %1 & Hif)

SECTION—D / §—=<l / §—*1<l / 9—<Tgrn / 9—sTT E:% El
&%

84. Pind the zeroes of the polynomial x2 -3 and verify the relationship
between the zeroes and the coefficients. 4
22 —3 TMOR P Ted WF @R [UER WE FRECARE o FooF
% 41 |
x2 -3 TReWbE U (R FA GR @R TSR G SRR T T
A1 FCA! |

x2 — 3 fammeit e’ wraE! GgT 3 o A SRM TR JTHRTHRE
e <) TEeTE e |

TR 22 —3 F YIH W FINT A IYTH 9 PR F A F dEy R
Tegan &1 S HIfkg) ‘

B21-GM/30A [ Contd.
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85. For which values of a and b does the following pair of linear
i i ] lutions?

equations have an infinite number of so i
o WF bA P TW (FIT TR (ARG NIV A FRAF A
f3q 2
o G b <R 7 T CRE oA AR SN CEEE S T A
A ? ’
¢ ¥ b A M TEG YR TERE gEeR GAHAE 9 A S M
HIGHUTE ARTH?
a 3R b ¥ f Tl ¥ R Frfiiad Yae weteel % g F FARE F9 9
I BA E?

x+3y=7 (a-bx+(a+b)y=3a+b-2

21 41 (A JI IPR TS Bl ©oPfAIR B |

AT FCAT (@ JCEF AICTA TR O ~opfFa3fe STmare |

A SN GEEEie e 9 ke 99w it @ o st
fore fif % feet 9o 5 vt oo & R w0 et 8 ooef -Yamd wieR
Bt £

OR | 9931/ 9931/ TaT/ sterar

Prove that in two concentric circles, the chord of the larger circle,
which touches the smaller circle, is bisected at the point of contact,
Two concentric circles are of radii 5 cm and 3 em. What is the length
of the chord of the larger circle which touches the smaller circle? 3+1=4

oI 39 (@ Y01 IFCIAS TS, TIEd AR WO 5 a0 o FRH,
W"ﬁ-ﬁﬂfﬁwﬁﬂfwawcmWMmm@@T 70
TR | T8 JGI STCICE 7TF JGHF ~ofs{ T4, WS 2 W@'i@‘i%
mmmﬁmm,wmmﬁmmwﬂw
anmﬂﬁﬂl5cmtﬂﬁﬁ3cmwgﬁ@ T 7!?;
m'wmﬁm@mﬁ%mwﬂm,meW?

HRAA @I o A g

el mﬂﬁiﬁ?ﬁﬂﬁ“ﬁﬂ’ﬁ@l5cmaﬁ3cmmﬁﬁq§
ﬁ?ﬁﬁ@?él%{ﬁ?ﬁ”@wﬁﬁﬁiﬁ@aﬂmg@qmm’ .

Tl
forg, e 5 2 St 79 3 3 e,
Wﬁ%mmﬁmﬁaaﬁ%laﬁﬁqﬁﬁwﬁﬁwwa

5
@Wﬁmmzﬁmﬁﬁﬁq,sﬁﬁqﬁﬁw%? 3 cm ¥)

1-GM/S0A
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Wt a triangle similar to a given triangle ABC with its sides
~ 3

equal to " of the corresponding sides of the triangle ABC. (Write

the steps of construction.)
b 2778 fage ABC 3 pite oW @bl figs @@ 41 0 TR ALER
mcmmﬂm%aﬂmnmww&ﬁﬁl)

w35 7 fags ABC @ 51 w1 <ofh fsw www 33 cfbee @3 gl
Aﬂcmwﬂmaﬁa%ammn(mmm@ﬁm 1)

Aacmﬂmﬁmam%ﬁmm@ﬁaw

srafAum ABC f we@ smafagm snfa) (snfiaams smmera fw )
fe m fnm ABC % wwew v figw 9w A, Rt et Ry m
ﬁwwcﬁmwaﬁﬁ%él(m%awﬁaﬁ%m)

SECTION—E / & —>e1 / & —>¥] /| —aTZTM / T—WT

solid toy is in the form of a hemisphere surmounted by a right-
circular cone. The height of the cone is 2 cm and the diameter of
the base is 4 cm. Determine the volume of the toy. (Take © = 3.14) 5
b1 SYLAFFA ST b1 AW ISR ¥R T WA 4 AP qB1 (N
mmm‘ilﬂmm2cmwww4cm. SO
SRreA Ay 34 1 (= 3-14 I «f34)

G3fb WHLETCFA ToR 93 oe-3B 1§ B > wF o T =@
wgba THS 2cm G PEA FP 4 em. (FEIHI Swe Ry @
(7 = 3-14 @ [/RQ)

TR A AR G R SER eSS G qe |
Ww2cmmmﬁ@ﬁm4cm.wmﬁ§ﬂlgﬁ
9P SEATR TN FAH TR 9w T o Fuent Aswf s
ﬁ§‘!l(1t=3-143q)

T 3 Fael e & R w1 @ Fe ® w weede v swmife 3
¥F $ F91€ R 2 cm 3R JMUR F IW 4 cm ¥ W RGN F1 996 I
R (x = 3-14 #ifw)
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; itted in a
e followinig table shows the ages of the patients admitte
Q(Mt:mg a year : _
S
Age (in years) 5-15 | 15-25 | 25-35 | 3545 45-55 | 55-6
Number of patients | 6 11 2 23 14 5

Find the mode of the data given above.
@I B TR 43 BRCTETS S @a @R I TR SIS (ISl

79 :
77 (TeT) 5-15 15-25 | 25-35 | 3545 15-§55 55-65
@ s 6 11 21 23 14 5
eoFs i SR ITEe Tedr |

R o3I /R G BRFoTEE = 267 @A I AEA SIS
WA 2

7 (I3 ) 5-15 15-25 25-35 35-45 45-55 55-65

QIR A 6 11 21 23 14 5

TR S SR I T I

TEER FAEA KA T @ FEmEieTd § ReE aferiy

e fefemn -
& (dRema) | 5-15 | 15-25 | 25-35 | 3545 | 4555 55-65
R o 6 11 21 23 14 5
TsiteTa g @i R R |
frfefas woll foeh s o Bl o & woff o Afmt 9
UG e
3y (at i) 515 | 1525 | 25-35 | 3545 | 4555 | 556
At Frwem | 6 11 2 | 2 | 1 5
T el ¥ agers T B 7 *
B21-GM/30A
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OR / @ew1 / weat / war / sverant

the median of the distribution given below is 28-5, then find the
values of x and y

o fRrerea i 28-5, (B x | y I I Bfored :
Aer fRererm qam 28-5, OIZe x R y G T AT A
TRV BT TAaRf s 28-5, aren x oY y B wH Rg -

zr&:ﬁ%ﬁngéaaﬂm 28-5 A, dl x 3 y % 7F 79 HC :

Class interval | 1% 55314 | Frequency/IR539©l/
19 W) UrE @<t/ F s | IREIR]) TATAUT) TRIARAT

0-10 5
10-20 x
20-30 20

3040 15

40-50 y
50-60 5
Total/ Y3/ (316/ T8/ AT 60

* % %

B21-GM/30A 221



